Final 2013 — brief answers

Question | Answer

1 1.5

2 A

3 D

4 B

5 B

6 A

7 D

8 A

9 A

10 B

11 B

12 D

13 C

14 A

15 B

16 D

17 D

18 A

19 A

20 B (This question is missing information on ku)
21 D

22 B

23 C

24 C

25 D

26 C

27 A

28 sZ=4

29 See lecture 9, pg. 7 — 9, for example.

30 630.5

31 See the notes on heteroskedasticity, pg. 12 for example
32 See midterm solution, for example.

33 The relevant t-stat is 1.55. We fail to reject at the 10% significance level.
34 This would lead to the “dummy variable trap.” See lecture 17, pg. 8, for example.
35 See lecture 16, pg. 9, for example.

36 See lecture 18, pg.7 - 10, for example.

37 See Chapter 8 for many examples.

38 See lecture 19, pg. 4, for example.



http://home.cc.umanitoba.ca/~godwinrt/3040/overheads/lecture9.pdf
http://home.cc.umanitoba.ca/~godwinrt/3180/het.pdf
http://home.cc.umanitoba.ca/~godwinrt/3040/midterm/mid2013key.pdf
http://home.cc.umanitoba.ca/~godwinrt/3040/overheads/lecture17.pdf
http://home.cc.umanitoba.ca/~godwinrt/3040/overheads/lecture16.pdf
http://home.cc.umanitoba.ca/~godwinrt/3040/overheads/lecture18.pdf
http://home.cc.umanitoba.ca/~godwinrt/3040/overheads/lecture19.pdf

